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https://m.islamqa.info/ar/answers/327958
https://m.islamqa.info/ar/answers/327958
https://m.islamqa.info/ar/answers/13713

‘ iy 4

amill s 32 Fpbll agle BSasly dol

23— Gl 5 ol dala] ST 4071 (264 12) gl goluall” 8 ela . 03T ] Lainl amy 0 dd
— sac @BV (ST 4o elliSo OIS &l prumally )OI Juddg Gan 90 pgasy Jo8 Lleg « 5318 948 — we all
(561 /1) "yluseall yall*: ynilg ¢ gl & Ayl 8138 Jlg_e‘il Gaoi SO — L ] 2

ola " (203) "aMlusdl golgiy sVl 57 gl J1B « dpe sy @Sodlg ¢ 0,laS] pae duedlidl s peallg
S 388 Y o aie s Baaall WM S e

c el ¢ i dg fan 5O ol s O et goodl Byle g : (155 /4) " pdUall Dlel* 39
. (588/2) " goluall* 8" Sl dog

RCSP| W EC I RN | PR SV RV RT | SRV PRI L WS RV R RN

L eall a3 bl

(486 /12) (351 /3) " colial] ¢ gama"

saslall Lagl Jaug

https://vb.tafsir.net/tafsir7153/#.XkwHZCjXKMo

alel dllg

2/2



